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1. Find orthogonal trajectories of the following curves. (3t H %8 > JE¥F|3HH &
2o S EBBRELRTHL) o
y=ce™ (10%)
2. Solve the following initial value problem. (3t B %8 - E# 7|t Hi84 > &3 E

@RERFIHL) e
4y" +8y"+41y'+37y =0,

3. Find a general solution of the following problem. (3} & %8 »

St HBRER T -
Y, =4y, +3y, +t

W==2y-y,-2

4. Solve the following problem by Laplace transform. (3 B 88 > ## 7|31 B8

st E@EERTHY) -

{
y(6)+2¢' I y(r)e dr =te',
0

y(0)=9, y'(0)=-6.5, »"(0)=-39.75
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5. Evaluate IF(r) -dr counterclockwise around the boundary C of the region R by
C

Green’s theorem, where F = [ y —x] » and Cthecircle x*+3*=1/4 (3t -

ool bt R HBEAR T - (15%)

6. Find the Maclaurin series by termwise integrating the integrand. (3+ 588 > %3

FletEdfE > BHERRERTHS) -
S()jﬂﬂﬁ (15%)

7.  Find the Fourier transform of f(x). (3t %78 °
FFea) e

I Eee fitHBeE

e 1f-a<.x<a. (15%)
0 otherwise
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